

Hw 12

$$(1) f(x) = \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} x^n$$

$$f(x) = \sin(x+x^2) \quad \left. \begin{array}{l} f'(x) = \cos(x+x^2)(1+2x) \\ f''(x) = 2\cos(x^2+x) - (2x+1)^2 \cdot \sin(x^2+x) \rightarrow \\ f'''(x) = -6(2x+1) \cdot \sin(x^2+x) - (2x+1)^3 \cdot \cos(x^2+x) \end{array} \right\}$$

$$f(0) = \frac{\sin(0)}{0!} = \frac{0}{1} = 0$$

$$f'(0) = 2\cos(0) - (1)^2 \cdot \sin(0) = 2 \quad n = \{0, 1, 2\} = \{0, 2, -1\}$$

$$f''(0) = -6(1) \cdot \sin(0) - (1)^3 \cdot \cos^2(0) = -1$$

$$(2) \sin z = z - \frac{1}{3!} z^3 + \frac{1}{5!} z^5 - \frac{1}{7!} z^7$$

$$f(x) = \sin(x+x^2) = (x+x^2) - \frac{1}{3!} (x+x^2)^3 + \frac{1}{5!} (x+x^2)^5 - \frac{1}{7!} (x+x^2)^7 + \frac{1}{9!} (x+x^2)^9$$

10/24/21

$$(3) \arctan x = \int_0^x \frac{1}{1+t^2} dt$$

$$\frac{1}{1-z} = \sum_{n=0}^{\infty} z^n$$

$$\frac{1}{1-x} = \sum_{n=0}^{\infty} x^n \Rightarrow \frac{1}{1-(x^2)} = \sum_{n=0}^{\infty} (x^2)^n = \sum_{n=0}^{\infty} (-1)^n x^{2n}$$

$$f(x) = \sum_{n=0}^{\infty} (-1)^n x^{2n}, \text{ integrating: } \int \sum_{n=0}^{\infty} (-1)^n x^{2n} dx = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1} + C$$

Since $f(0) = \arctan(0) = 0, C=0$

$$f(x) = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1}$$

(4) $\tan(\alpha + \beta) = \frac{\tan \alpha + \tan \beta}{1 - \tan \alpha \tan \beta}$, using the identity: arctan both sides,

$$= \alpha + \beta = \arctan\left(\frac{\tan \alpha + \tan \beta}{1 - \tan \alpha \tan \beta}\right)$$

Set $\alpha = \arctan x, \rightarrow x = \tan \alpha$
 $\beta = \arctan y, y = \tan \beta$

Substitute into the formula: $\arctan x + \arctan y = \arctan\left(\frac{x+y}{1-xy}\right)$

(5) $\arctan \frac{1}{2} + \arctan \frac{1}{3} = \frac{\pi}{4}$

Set $A = \arctan \frac{1}{2}, -\frac{\pi}{2} < A < \frac{\pi}{2}, \tan A = \frac{1}{2}$

Be $\arctan \frac{1}{3}, 0 < B < \frac{\pi}{2}, \tan B = \frac{1}{3}$

$A+B = \frac{\pi}{4} \rightarrow \tan(A+B) = 1, A+B = \frac{\pi}{4}$